Regents Physics

An object starts from rest and accelerates uniformly

agown an incline. If the object reaches a speed of 40
meters per second in 5 seconds, its average speed is

(1) 8 m/sec (3) 20 m/sec
(2) 10 m/sec (4) 30 m/sec

The average velocity of an object during 6.0 seconds is

2 meters per second. What is the total distance traveled

by the object?
(1) 1/3 m
(2) 12 m

(3) 3 m
(4) 4 m

An object moves a distance of 10 meters in 5 seconds.
The average speed of the object is

(1) 0.5 m/sec (3) 40 m/sec
(2) 2.0 m/sec (4) 50 m/sec

The average speed of a runner in a 400.-meter race is

8.0 meters per second. How long did it take the runner
to complete the race?

(1) 80. sec
(2) 50. sec

(3) 40. sec
(4) 32. sec

A moving body must undergo a change of
(1) velocity {3) position
(2) acceleration (4) direction

__Problems in Kinematics
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Two cars, A and B, are 400. meters apart. Car A traveis
due east at 30. meters per second on a coilision course
with car B, which travels due west at 20. meters per

second. How much time elapses before the two cars
collide?

(1) 8.0s
(2) 13 s

(3) 20. s
(4) 40. s

~ Arace car traveling at 10. meters per second

accelerates at 1.5 meters per seconds® while traveling a

distance of 600. meters. The final speed of the race car
is approximately

(1) 1900 m/s
(2) 150 m/s

(3) 910 m/s
(4) 44 m/s

An obJer:t initiatly at rest accelerates at 5 meters per
second” until it attains a speed of 30 meters per

second. What distance does the cbject move while
accelerating?

(1) 30m
(2} 20 m

(3) 3 m
(4) 600 m

Base your answer to the following question on the
information below:

A 10.-kilogram object, starting from rest, slides down a
fricticrgless incline with a constant acceleration of 2.0

What is the distance traveled by an object that moves
with an average speed of 6.0 meters per second for 8.0

seconds? distance of
(1) 0.75 m (3) 14 m (1) 32 m (3) 8.0m
(2) 1.3 m (4) 48 m (2} 16 m (4) 4.0 m

A cart starting from rest travels a distance of 3.6
meters In 1.8 seconds. The average speed of the cart is

(1) 0.20 m/s (3) 0.50 m/s
(2) 2.0 m/s (4) 5.0 m/s

A boat initially traveling at 10. meters per second
af:celerates uniformiy at the rate of 5.0 meters per

second” for 10. seconds. How far does the boat travel
during this time?

(1) 50. m
(2) 250 m

(3) 350 m

A runner completed the 100.-meter dash in 10.0 (4) 500 m

seconds. Her average speed was

(1) 0.100 m/s (3} 100. m/s A car having an initial speed of 16 meters per second is

mi/sec” for four seconds
During the 4.0 seconds, the object moves a total

uniformly brought to rest in 4.0 seconds. How far does
5] AEhi9 SH 4) sabadil L the car travel during this 4.0-second intervai?
A car travels a distance of 98 meters in 10. seconds. (1) 32 m (3) 96 m
What is the average speed of the car during this 10.- (2) 82 m {4 4.0 m
second interval?
(1) 4.9 m/s (3} 49 m/s A skier starting from rest skis straight down a slope 50.
meters long in 5.0 seconds. What is the magnitude of
L& Sl e W) T Ry tne acceleration of the skier?
How long will it take an object to move 100 meters if (1) 20. m/ 52
the object is traveling with an average speed of 0.5 (2) 9.8 m/s
meter per second? (3) 5.0 m/s’
(1) 200 s (3) 55 (4) 4.0 m/s’
(2} 25 (4) 50 s

.. An object is uniformly accelerated from rest to a speed
of 25 meters per second in 10 seconds. The

A car accelerates umfer ly from rest at 3.2 m
Y / s*. When acceleration of the object is

the car has traveled a d;stance of 40. meters, its speed

will be (1) 1.0 m/si
(1) 8.0 m/s (3) 16 m/s (2) 2.0 m/s;
(2) 12.5 m/s (4) 128 m/s (3) .5 m/s

(4) 2.5 m/s®




